
Jerry Greer's Engineering - 1940 Chief - Crashbar - Front

Ref Part # Qty Description Price

Page 1               Created On: 04/18/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Crashbar - Front

Ref Part # Qty Description Price

1 85788 1 CRASHBAR ASSEMBLY, mounting hardware included; Bare Finish $450.00

2 85789 1 CRASHBAR ASSEMBLY, mounting hardware included; Chrome Plated $750.00

3 JG-3650 1 CRASHBAR MOUNTING PLATE, ; Bare Finish $35.00

4 JG-3652 1 CRASHBAR MOUNTING PLATE, ; Chrome Plated $100.00

5 JG-3651 2 CRASHBAR PLATE, 2.500'' long; Bare Finish $4.50

6 39213 2 CRASHBAR MOUNTING BLOCK, 2.313'' long; Cad Plated $18.00

7 JG-2973 2 U-BOLT, 3/8''-24, 1'' Dia, 2'' long; Cad Plated $13.00

8 JG-2974 2 U-BOLT, 3/8''-24, 1.250'' Dia, 2'' long; Cad Plated $13.50

9 JG-2975 2 U-BOLT, 3/8''-24, 1.250'' Dia, 2.500'' long; Cad Plated $13.50

10 922008 12 WASHER, 3/8'' Split Lock; Cad Plated $0.75

11 606012 12 NUT, 3/8''-24(Hex); Cad Plated $0.75

Page 2               Created On: 04/18/2024 - Copyright 2024 Jerry Greer's Engineering


